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MICROPROCESSOR & C-PROGRAMMING
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 Preife s Vo g ) [eTfermaw 3w : 30

i Time allowed : V2 Hour] [Maximum Marks : 30

|z () o e e & v e e ] S E
Note : All Questions are compulsory and each question is of I mark.
(ii) 3 srrst & e g1 1 ety o vt srar & Ara &

Only English version is valid in case of difference in both the languages.

1. FpAfefaa @t 3rseye w1 g 2 1.  What will be the output of the
#include <stdio.h> following ?
void main( ) #include <stdio.h>
{ void main( )
int k=10; t _
k= +4k int k=10;

printf (“\n%d” k); =k
@ 11 printf (*\n%d” k),

‘ (@ 11
(b) 1

(b)
© 0
4 12 © 0
@ (d 12
2. RST 7.5 ﬁmmﬁfﬂﬁﬂw 2. What is type of triggering used in

A ¥ ? RST7.5?
(a) W& (a) Level
(b) U (b) Edge
(c) IR T T () Level and Edge
(d) I 4§ B T (d) None of the above
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3. Freefefas v vz &t smeege =
Bt 7
#include <stdio.h>
void main()
{
printf(*Rajast\bthan”);
}

(a) Rajastthan (b) Rajastbthan

{¢) Rajasthan (d) Rajast than
4, VEH n 999, RBAE S9EE

HIESINIRET &1

(a) 8008 (b) 4004

(c) 8088 (d) 8080

5. Pefafea d |/ #i9 @1 ¢ aAIRbE
HTE T ?
(a) main (b) void
(c) volatile (d) struct

6. O JAER F 4T Aar ¥
(a) WA
(b) HHTEE NG
(c) T (a) T (b)
(d) T 9 HE T

7. TRAPHTusR Tt RSTE?
(a) RST4 (b) RSTS5.5
(c) RST4.5 (d) RST75

8. 8085 AP A RFERMET?
(a) FIFO (b) FILO
() LILO (d LIFO

9, ZHUHETEM?
I int z;
x=35,y=-10,a=4,b=2;
Z=x++-(--y) = bla;
(a) 10.5 ® 10
(c) O

(d) -05

2

2045

. EE20¢
What will be the output of the
following program segment ? 10.
#include <stdio.h>
void main()

{
print f(*Rajast\bthan”);

1
(a) Rajastthan  (b)
(c) Rajasthan (d)

Rajastbthan
Rajast than

First n channel, second generation 1.

MiCroprocessor was
(a) 8008 (b) 4004
(c) 8088 (d) 8080

Which one of the following is nota
reserved keyword for ‘C’ ?

(8) main ®) void 12.
(c) volatile (d) struct

Size of array is known at
(a) Run time

(b) Compile time

{(¢) Both(a)and (b)
(d) None of the above

What is RST for TRAP ?
(a) RST4 (b) RSTS.S
(c) RSTA45 (d) RST7S

Which is stack in 8085 ?
(a) FIFO (b) FILO
(¢) LILO (d) LIFO

What will be the value of Z ?
If int z;
x=5,y=-10,a=4,b=2;
Z=X++—(——y) » bla;

(a) 10.5 by 10
cy O d -05




12,

13.

T T o W F IGAT F TWE
e FWX, A araa H a1 9 € ?
(a) W H WIH W&

(b) W& afm @ F

(c) W F U@ #1 A

(d) T T YR T

afe ‘X’ W ASCII R 120 8, @ Y
T | &1 e 7

FRY = (‘X - ‘P’)/3;
(@ 1 (b) 1.66
© 2 (d) 2.66

frefefaa wim @vs =t aEeqeE &=
Ly
# include <stdio.h>
void main( }
{
int i=50;
int * j=& i;
printf (‘“\n%d”, ++ *(j)};
}
(a) 49
(b) 50
() 31
(d) W HE T

frfafea & @ =9 @ wd wew
frmwmagE t?

(2) RD,HOLD,S,, S,

(b) HOLD,S,, S;, WR

(¢ ALE, IOM, RD
@) S, S;, IO/M, ALE

3)

10.

11.

12,

13.

g

2045

If you pass an array as an argument
to a function, what actually gets
passed ?

(a) First element of the array.

(b) Address of the least element
of array.

(¢) Value of elements in array.
(d) Base address of the array.

If ASCII value of ‘X’ is 120, then

what will be the value of Y 7
IfY=(X -‘P)/3;

(a) 1 (b) 1.66
(cy 2 (d) 2.66

What would be the output of the
following program segment ?

# include <stdio.h>
void main( )
{
int i=50;
int % j=& i;
printf (“\n%d”, ++ *(j));
}
(a) 49
(b) 50
(¢) 5t
(d) None of the above

What will be the valid status signal
group ?

(a) RD,HOLD,S,, S,
(b) HOLD, S, S;, WR

(¢) ALE,10/M, RD
(d) S, S,.10M, ALE
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14,

13.

16.

17.

18.

19.

frafafan & & Se e Bes (S/H)
ity ¥ fog w@t T ¥

(a) W, FH faa # e
(b) %Y Y2, & fawet Ht wfte
(c) W gu e, et Rarrer it wifta
(d) &gy e, wn faver B wia

B o H WS T &2
(a) Extern

(b) Register

(¢} Global

(d) THEFE T

foret T @ @t 3IqE
char x = 10;

printf (“%d”, ~x);

(@ 10

(b) -10

(c) ~11

(d) T Y FE @

W dwon = wFa E
(a) wfeepelt

(b) SrETHEE

(c) T THI (a) TG (b)
(d) T Q@ FE &

F 1 Toeifes Fe i w9 A

¥

(a) while (by if
(c) switch-case (d) if-else

CMA suwe | 8w e, el oo
w3 ae i w7 feafy g0l 2

(a) 2 IgE, W, TR

(b) 19T, HaA CS, TSR
(c) 14, 78, shmtee

(d) 29mEE, FE A, shwree

C

14.

15.

16.

17.

18.

19.

2045

Which is the true statement for

Sample and HOLD (S/H) circuit

(a) Low Droop rate, slow
acquisition of signal.

(b) High Droop rate, fast
acquisition of signal.

(¢c) Low Droop rate, fast
acquisition of signal.

(d) High Droop rate, low
acquisition of signal.

Which is not the type of variable ?
(a) Extern

(b) Register

{¢c) Global

(d) None of the above

What will be the output of
following program segment ?

char x = 10;

printf (“%d”, ~x);

(a) 10
(b) -10
{cy -11

(d) None of these

An array can be declared
(a) Statically

(b) Dynamically

(c) Both (a) and (b)
(d) None of these

Which is not the selective control
flow statement ?

(a) while (b) if

(¢c) switch-case (d) if-else

What is the instruction length, flag
and addressing mode position in
CMA command ?

(a) 2 Byte, All, Register

(b) 1 Byte, Only CS, Indirect
(¢} 1 Byte, None, Implicit
(d) 2 Byte, None, Implicit

20.

21.

22

23.

24.

25.
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20, €UNF AMH § S99 3 & 9
it o S Fem B i &2
(a) 9fERH (-100 9 + 100 °C)
(b) GHIHTEH (200 F + 2500 °C)
(c) urEOHERE (+ 150 ® 5500 °C)
(d) Ry gmiHizd (<2009 + 300 °C)

21.  int«ptr; T& ptr AT HUEIRE HT T
¥
(a) int=R
(b) float=v¥
(¢) double =X
(d) IRET Tt

22. WM W Gor Ni2ierRy £ 0
(a) intadd (int, int);
(b) int add (float, int);
(c) float add (int, int);
(d) float add (float, int);

23, ¥ 8 9 F 99T SIS
A9 o fopar ST £ 0

(@ CSams (b) ZTMP

(©) SaWAC (d CSwmzZ
24. USHE §T s A &

(a) ROM (b) SRAM

(¢) DRAM (d) EPROM

25. TTESHIMRIET @ T e ¥
(a) @@
(b) TRTET W TR
(c) U3W a9 & =gk
(d) TETRTH AHR

20.

21

22,

24.

25.

2045
Which is valid device and rating
for temperature measurement ?
(a) Thermistors (=100 to + 100 °C)
(b) Thermocouples (~200to+2500°C)
(c) Pyrometers (+ 150 to 5500 °C)

(d) Resistance thermometers (—200
to + 300 °C)

intxptr; here ptr can store the
address of

(a) int variable

(b) float variable

(¢} double variable

(dy All of the above

Which is the incorrect function
prototype ?

(a) int add (int, int);

(b) int add (float, int);

(¢) float add (int, int);

(d) float add (float, int);

Which are two flags used to
measure frequency ?

a) CSandS (b) ZandP
(c) Sand AC (d) CSandZ
Access time is faster for

(@ ROM (b) SRAM
(¢) DRAM {(d} EPROM

What does microprocessor speed
depends on ?

(a) Clock

(b) Data base width
(c) Address bus width
(d) Size of register

P.T.O.
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26.

27,

28.

29.

30.

FE.9 ‘C’ FY foreioar @ & 2
(a) WA

(b) =

(c) W

(d) T H | B TE

(T H e A W e %
foT =T

(a) T faseg
(b) LTS
(c) A
(d) ST T

frafefeg & & 9 w99 =i @i
ST FITS | ORI LT ¢ 7

(a) TR
(b) FHUER
(c) TR
(d) IUUET H | FE T

CPU AR &
@ W
(b) W
(c) TR
(d) wefes

PUSH PSW v wwamé a1 wim
feafe gt

(a) 29mE, Fad CS
(b) 19, o

) 29, Hid T
(d) 19w, wiE T

(6)

26.

27.

28.

29.

30.

2045

Which is not the feature of C
language 7

(a) Portable

(b)y Terse

(¢) Modular

(d) None of these

Require to write and run ‘C’
Program

(a) Operating System
(b) Text editor

(¢) Compiler

(d) All of the above

Which is used to store machine
code in a separate file ?

(a) Interpreter
(b) Compiler
(c) Assembler

(d) None of the above

CPU memory is
(a) RAM

(b) ROM

(c) Register
(d) Hard disk

What is the position of instruction
length and flags position in PUSH
PSW ?

(a) 2 Byte, Only CS
(b) 1 Byte, All

{c) 2 Byte, None
(d) 1 Byte, None
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MICROPROCESSOR & C-PROGRAMMING

PART-II

fraifta wng  dfim e ) [rferepan 3t : 70

Time allowed : Three Hours) {Maximum Marks : 70

T :
Note :

1. @)

(ii)

(i)  JePT 5% a2, 9 7 @ faeel uler & g i
Question No. I is compulsory, answer any five questions from the remaining.
(ii) TeAF T¥T & T 9T F1 HHER UF G §T BT
Solve all parts of a question consecutively together.
(iii) AP T T S F YR FHT 4
Start each question on a fresh page.
(iv) g s § s iR @t Rl | st srga BT AT &

Only English version is valid in case of difference in both the languages.

8085 TEHIMINTT § TSH T 4 oo wiRe TSH/IR 96 H 357 qHaey |

Explain the difference between Address Bus and Multiplexed address/data bus in
8085 Microprocessor.

8085 AT H fafir=y tsirges &% = fafEd |

Write down the names of various registers in 8085 microprocessor.

(iil) R TAG/AISIIE T N SIHL0T I |

@v)

)

2.

(i)

Classify various console input/output functions.
“for” & “while” ¥¥ &1 W&y fafaa |

Write down the syntax of “for and “while” loop.

ST T I SRTER0T Wied THERY |

Explain “Definition of Structure” with example. (2x5)
8085 TEHHININGT F Wed T & e |

Explain the status flags of 8085 MP.

8085 eI %1 i fmarw wweed

Explain Pin configuration of 8085 Microprocessor. (6+6)

(7 P.T.O.
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3. (i) 8085 WEHRMAW ¥ fau fagm swifar ¥q ADC, 9w @@ fies uRug & =%
TR AT AR |
Explain the block diagram, suitable for electrical application of ADC and Sample EE

and Hold Circuit for 8085 Microprocessor.
(i) B08S ATGHINIEET H WETFAT ¥ AT A &t fafy Bt TR |

Explain method of temperature measurement using 8085 microprocessor. (6+6)

4. (1) ¥ Qe dEae § | 9 G T 7 B Cd amw F v fdfed |

Write a program in ‘C’ language to find greater number between three given

integer numbers.
(i) Frefe e R = g |
Explain Enumerated data type. (6+6) g
) Tin
5. () f7=1 St @A N R o T w0 ¥ 9 A v i@t
Write a program in ‘C’ language to calculate sum of the following series upto iz
J N® term : N
-1 1[Z- 1{Z-1 ol
Y=ZZ +§[ ZIT'FE[T:IS"' ....... + upto N¥ term.
(i) T AT § AT H T |
Explain classification and initialization of arrays. (6+6)
’ 6. (i) for, while T4 do-while T[T ¥ =X THEES | |
,J Explain the difference between for, while and do-while loops. . '
. (i) 1R 10 7% & Qii% GeHstt H e I} for T[T F FEEA @ 6 A H v AR
Write a program in ‘C’ language to add integer numbers from 1 to 10 using ‘for’
loop. (6+6)
7. (1) ®2-DWH AT H W 9§ wiww fate |
Write a program in C language to add two 2-D arrays. 2.
(ii) oI B BT B $i fafut T |
‘ Explain methods of function calling. (6+6) amm
8. fFrafefas W diirw feofirt fafed
” Write short notes on the followings :
(i) wTE 3.

3 Pointer
(i) T T UG W T
i Comparision between structure and union.

(iii) fst

Recursion (4x3)




